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TOYOTA TECHNICAL TRAINING INSTITUTE 

Entrance Examination: Sample Question Paper 

Medium: English / Kannada 

 

Instructions to the candidates: 

 The question paper is based on 9th & 10th standard Mathematics & Science 

 The question paper is given in Kannada and English (as per the choice of the 

candidate).  

 The question paper consists of about 100 questions on Mathematics (30), Science (25), 

Aptitude & Reasoning (30), English (15) 

 Total duration of the examination is 2 hours. Answering all the questions is 

compulsory. 
 
C¨sÀåyðUÀ½UÉ ¸ÀÆZÀ£ÉUÀ¼ÀÄ: 

 ¥Àæ±Éß ¥ÀwæPÉAiÀÄÄ 9£ÉÃ ªÀÄvÀÄÛ 10
£ÉÃ vÀgÀUÀwAiÀÄ UÀtÂvÀ, «eÁÕ£À, ¥ÀoÀåPÀæªÀÄªÀ£ÀÄß DzsÀj¹gÀÄvÀÛzÉ. 

 ¥Àæ±Éß ¥ÀwæPÉAiÀÄÄ C¨sÀåyðAiÀÄ DAiÉÄÌAiÀÄ ªÉÄÃgÉUÉ PÀ£ÀßqÀ CxÀªÀ EAVèÃµï ªÀiÁzsÀåªÀÄzÀ°è ¤ÃqÀ¯ÁUÀÄªÀÅzÀÄ.  

 ¥Àæ±Éß ¥ÀwæPÉAiÀÄÄ UÀtÂvÀ (30), «eÁÕ£À (25), PË±À® ªÀÄvÀÄÛ vÁQðPÀ (30),EAVèÃµï (15), «µÀAiÀÄUÀ¼À£ÁßzsÀj¹ À̧ÄªÀiÁgÀÄ 

100 ¥Àæ±ÉßUÀ¼À£ÀÄß M¼ÀUÉÆArgÀÄvÀÛzÉ. 

 ¥ÀjÃPÉëAiÀÄ CªÀ¢üAiÀÄÄ 2 UÀAmÉAiÀiÁVzÀÄÝ, J¯Áè ¥Àæ±ÉßUÀ½UÀÆ GvÀÛgÀ §gÉAiÀÄÄªÀÅzÀÄ C¤ªÁAiÀÄðªÁVzÉ. 
 

Mathematics 
 

I. Solve the following questions 

1) If, 
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then find the value of ‘x’ 
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 xx  DzÀgÉ, „x’ É̈¯ÉAiÀÄÄ ___________ 

2) If  U = {0,1,2,3,4,5} ,  P = { 1,2,3}  and  Q = {0,2,4,5}  then P| ∩ Q|  = ? 

U = {0,1,2,3,4,5} ,  P= { 1,2,3}  ªÀÄvÀÄÛ  Q = {0,2,4,5}  DzÀgÉ, P| ∩ Q| = ? 

3) If Tn = n2 – 1, Tn = 143, Find the value of ‘n’ 

Tn = n2 – 1 DVzÀÄÝ, Tn = 143 DzÀg É, „n‟ £À ¨É¯ÉAiÀÄÄ ___________ 

4) The height of the cone is 12 cm and the area of the base is 154 sq.cm,. Find the 
volume of the cone?  

MAzÀÄ ±ÀAPÀÄ«£À ¥ÁzÀzÀ «¹ÛÃtð 154 ZÀ.¸ÉA.«ÄÃ. ªÀÄvÀÄÛ ±ÀAPÀÄ«£À JvÀÛgÀ 12 Ȩ́A.«ÄÃ. DzÀgÉ, ±ÀAPÀÄ«£À 
WÀ£À¥sÀ® PÀAqÀÄ»r¬Äj.  

5) Rationalize the Denominator, 
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bÉÃzÀªÀ£ÀÄß CPÀgÀtÂÃPÀj¹, 
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Science 
 

I. Answer the following questions 

1) How much acceleration is gained by a body of mass 2 kg when a force of 100 

newton acts on it. 

2 PÉf gÁ²AiÀÄ PÁAiÀÄzÀ ªÉÄÃ¯É £ÀÆgÀÄ £ÀÆål£ï §® ¥ÀæAiÉÆÃV¹zÀgÉ, PÁAiÀÄ UÀ½ À̧ÄªÀ ªÉÃUÉÆÃvÀÌµÀð JµÀÄÖ? 

2) The efficiency of diesel engine is usually expressed as…. 

MAzÀÄ rÃ Ȩ́¯ï EAf¤ß£À zÀPÀëvÉAiÀÄ£ÀÄß ºÉÃUÉ ªÀåPÀÛ¥Àr À̧§ºÀÄzÀÄ.…. 

3) To detect which poisonous gas, should Emission Test be conducted for vehicles 

which use liquefied petroleum gas? 

zÀæ«vÀ ¥ÉmÉÆæÃ°AiÀÄA C¤®ªÀ£ÀÄß §¼À À̧ÄªÀ ªÁºÀ£ÀUÀ¼À°è AiÀiÁªÀ «µÀPÁj C¤®ªÀ£ÀÄß ¥ÀvÉÛºÀZÀÑ®Ä ºÉÆgÀ À̧Æ À̧ÄªÀ 

¥ÀjÃPÉëAiÀÄ£ÀÄß ªÀiÁqÀ É̈ÃPÀÄ? 

4)1 Angstrom is equal to ________________ m 

 1 DAUï¸ÁÖçA =  ____  m 

5) Dynamo works on the principle of ________________ 
qÉÊ£ÀªÉÆ PÁAiÀÄð ¤ªÀð» À̧ÄªÀ vÀvÀé ___________ 

 

 

Aptitude 
 

Space Visualization: 

The sheet is folded along the doted lines & cut according to the given diagrams then 

after opening the diagram so obtained is given in one of the four alternatives. 

PÁUÀzÀªÀ£ÀÄß ªÀÄÄAzÀÄUÀ¼À eÁUÀzÀ°è ªÀÄra avÀæzÀ°ègÀÄªÀAvÉ PÀvÀÛj¹j. £ÀAvÀgÀ CzÀ£ÀÄß vÉgÉzÀÄ £ÉÆÃrzÀgÉ PÉÆnÖgÀÄªÀ A, B, C 

& D avÀæUÀ¼À°è MAzÁVzÉ. CzÀ£ÀÄß UÀÄgÀÄw¹. AiÀiÁªÀ ºÉÆ À̧ DPÁgÀ vÁ¼ÀÄvÀÛzÉ JA§ÄzÀ£ÀÄß PÉÆnÖgÀÄªÀ A, B, C & D 

avÀæUÀ¼À°è UÀÄgÀÄw¹. 

 

 

 

 

 

 

 

 

 

 

If you closely observe the figure “X” you can find that the next sequence 

will be “C”  

from the choices given 

Example: 
X 

X 
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Analogies: 

Find the relationship (analogy) in the first set (2 figures) of problem figures. Based on the 

same analogy find the suitable figure from Answer figure. 

ªÉÆzÀ¯ÉgÀqÀÄ avÀæUÀ½VgÀÄªÀ ¸ÀA§AzsÀªÀ£ÀÄß UÀÄgÀÄw¹, £ÀAvÀgÀ PÉÆnÖgÀÄªÀ avÀæUÀ¼À°è (A, B, C, D & E) ¥Àæ±ÉßAiÀÄ avÀæPÉÌ À̧ÆPÀÛ 

GvÀÛgÀ UÀÄgÀÄw¹j. 

 

 

 

 

 

 

 

 

 

 

 

 

Conditional Reasoning: 

Which one of the four answer figure A, B, C & D on the right should come after the 

problem figure(X) on the left, if the sequence were continued. 

PÉ¼ÀUÉ PÉÆnÖgÀÄªÀ „X‟ avÀæªÀ£ÀÄß À̧ÆPÀëöäªÁV UÀªÀÄ¤¹ CzÀgÀ ªÀÄÄAzÀÄªÀjAiÀÄÄªÀ s̈ÁUÀªÀ£ÀÄß A, B, C & D avÀæUÀ¼À°è 

UÀÄgÀÄw¹. 

 

 

 

 

 

 

 

 

 

 

 

Example: 

If you closely observe the problem figure you can find that the next sequence 

will be “E” from the choices given 

X 

X 
Example: 

If you closely observe the figure “X” you can find that the next sequence will 

be “A” 
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Technical Comprehension: 

One portion of problem fig X is incomplete. Choose from the answer figure the one which 

fits the most. 

PÉ¼ÀUÉ PÉÆnÖgÀÄªÀ avÀæ ¥ÀÆtðªÁV®è. PÉ¼ÀV£À AiÀiÁªÀ avÀæªÀ£ÀÄß X avÀæPÉÌ Ȩ́Ãj¹zÁUÀ , X avÀæªÀÅ 

¥ÀÆtðªÁUÀÄªÀÅzÀÄ. 

 
 

 

 

 

 

 

 

 
 
 
 

English 

I.  Arrange the jumbled words to proper sentence 

a.  good he boy a is. 

 He is a good boy (Answer) 

II.  Answer the following question in sentence (No one word answer allowed) 

a.  Which is your native place? 

 My native place is Bangalore. (Answer) 

III.  Comprehension: 

a.  You have to read the given paragraph and answer the given set of questions.  

 
 
 
 

Example: 

Answer is “C” that fits in „X‟ to complete the given design. 

X 

X 


